BIG BIKE PARTS INSTALLATION
INSTRUCTIONS

RADIO SPEAKER COVERS (REAR) FOR HONDA GL1500/6
PART NO. 2-487 GOLD WING MODELS

Copyright© 1998 by Big Bike Parts, Inc. No part of this instruction sheet
may be reproduced without the written permission of Big Bike Parts, Inc.®

Revised 7/25/2017

ITEMS REQUIRED: #2 MEDIUM PHILLIPS SCREWDRIVER

INSTALLATION:

1. REMOVE THE FOLLOWING ITEMS:
A. USING A #2 MEDIUM PHILLIPS SCREWDRIVER, REMOVE THE EIGHT MOUNTING SCREWS (1A) AND BOTH LEFT AND RIGHT ARM
REST COVER ASSEMBLIES (1B). NOTE: OPEN THE L/R POCKET COVER DOORS (1C) FOR EASY ACCESS TO THE FRONT INBOARD
SCREWS.

B. DISCONNECT THE REAR SPEAKER WIRING HARNESS (1D) (IF APPLICABLE) FROM THE RADIO SPEAKERS. NOTE WIRE LOCATIONS.

C. USING A #2 MEDIUM PHILLIPS SCREWDRIVER, REMOVE THE EIGHT MOUNTING SCREWS (2A) FROM L/R ARMREST SPEAKER
COVERS (2B).

2. USING A #2 MEDIUM PHILLIPS SCREWDRIVER; INSTALL THE CHROME SPEAKER COVERS (2B) USING THE OEM SCREWS (2A) AND
WASHERS PROVIDED. USE THE ADDITIONAL FOUR WASHERS PROVIDED TO ACT AS SPACERS ON THE REAR POSTS TO PREVENT
THE OEM SCREWS FROM POKING THROUGH THE COVER. CAUTION: FAILURE TO DO SO MAY CAUSE THE CHROME PLATING TO
CRACK WHEN SCREWS ARE TIGHTENED.

3. REINSTALL ALL REMOVED ITEMS BY REVERSING STEPS 1A AND 1B.

SPEAKER
EIGURE ¥2 COVERS
e -0
ARM REST SHORT POSTS

COVERS —_—

SPEAKER
WIRING
HARNESS

(&) ADDITIONAL WASHERS

| o |
®

- ® SHERS

5 8
SCREWS z é

SCREWS SCREWS




